Using Excel to find the average freefall acceleration for the Freefall lab.

1)  Open Excel.

2)  In cell A1, type ‘time’.  

3) In cell A2, type your “hidden time”.  (The “hidden time” is calculated by doubling the first time in the velocity table and subtracting the first time in the position table from it.)

4)  Type your six additional position times from Data Studio in cells A3 to A8.  

5)  In cell C1 type dx/dt.  

6)  Leave C2 blank.  In cell C3 type “=0.05/(a3-a2)” with no spaces.  Hit enter.  

7)  Click on cell C3 to highlight it.  Click and drag the black square in the lower right corner down to C8.  These values are your average speeds for the black sections of the picket fence.  

8)  In cell E1 type ‘t mid’.  

9)  Leave E2 blank.  In  E3 type “=(a2+a3)/2” with no spaces.  Hit enter.

10)  Click on cell E3 to highlight it.  Click and drag the black square down to E8.  These are your midtimes between your v average values.

11)  In cell G1 type “accel”.  

12) Leave G2 and G3 blank.  In cell G4 type “=(c4-c3)/(e4-e3)” with no spaces.  

13) Click on cell G4 and drag the black square down to G8.  These are your accelerations through each black section of the picket fence.

14) Leave cell G9 blank.  In cell G10 type “=average(g4:g8)” with no spaces.  This is your average acceleration for the drop.

15) Print onecopy of the Excel spreadsheet for each partner. 

16) Make a second run.  Now type in the values for your second run in cells A2 to A8.  Record cell G10 in the new spreadsheet by hand in cell G12 on your Excel printout.

17) Do the same for the third run and record in cell G14 on your printout.

